
8558 8558.5 8559 8559.5 8560
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

28−

27.5−

27−

26.5−

26−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

9.4−

9.2−

9−

8.8−

8.6−

8.4−

8.2−

8−

7.8−

7.6−

7.4−

7.2−

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

7265

7265.5

7266

7266.5

7267

7267.5

7268

7268.5

7269

ru
n

run:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7267}



8558 8558.5 8559 8559.5 8560
cyclenum

97.5−

97−

96.5−

96−

95.5−us
l_

1X
usl_1X:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

5.2

5.4

5.6

5.8

6

6.2

6.4

6.6

6.8

7

7.2

7.4

us
l_

4a
Y

usl_4aY:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

44.6

44.8

45

45.2

45.4

45.6

45.8

46

46.2

46.4

46.6

46.8

us
l_

4e
X

usl_4eX:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

13

13.5

14

14.5

15

us
l_

4e
Y

usl_4eY:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

39.5−

39−

38.5−

38−

37.5−

us
l_

12
X

usl_12X:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

7265

7265.5

7266

7266.5

7267

7267.5

7268

7268.5

7269

ru
n

run:cyclenum {run == 7267}



8558 8558.5 8559 8559.5 8560
cyclenum

129−

128.5−

128−

127.5−

127−

us
r_

1X

usr_1X:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

5

5.2

5.4

5.6

5.8

6

6.2

6.4

6.6

6.8

7

7.2

us
r_

4a
Y

usr_4aY:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

196

196.2

196.4

196.6

196.8

197

197.2

197.4

197.6

197.8

198

198.2

us
r_

4e
X

usr_4eX:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

10.5

11

11.5

12

12.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

38.5−

38−

37.5−

37−

36.5−

us
r_

12
X

usr_12X:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

7265

7265.5

7266

7266.5

7267

7267.5

7268

7268.5

7269

ru
n

run:cyclenum {run == 7267}



8558 8558.5 8559 8559.5 8560
cyclenum

24105.6

24105.8

24106

24106.2

24106.4

24106.6

24106.8

24107

24107.2

24107.4

24107.6

24107.8

us
l_

co
il1

usl_coil1:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

6234

6234.2

6234.4

6234.6

6234.8

6235

6235.2

6235.4

6235.6

6235.8

6236

6236.2

us
l_

co
il3

usl_coil3:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

4012.5

4013

4013.5

4014

4014.5

us
l_

co
il4

usl_coil4:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

1218−

1217.5−

1217−

1216.5−

1216−

us
l_

co
il6

usl_coil6:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

10476

10476.5

10477

10477.5

10478

us
l_

co
il7

usl_coil7:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

7265

7265.5

7266

7266.5

7267

7267.5

7268

7268.5

7269

ru
n

run:cyclenum {run == 7267}



8558 8558.5 8559 8559.5 8560
cyclenum

20810−

20809.5−

20809−

20808.5−

20808−

us
r_

co
il1

usr_coil1:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

5085.5−

5085−

5084.5−

5084−

5083.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

3869

3869.5

3870

3870.5

3871

us
r_

co
il4

usr_coil4:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

610.5

611

611.5

612

612.5

us
r_

co
il6

usr_coil6:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

21266.6

21266.8

21267

21267.2

21267.4

21267.6

21267.8

21268

21268.2

21268.4

21268.6

21268.8

us
r_

co
il7

usr_coil7:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

7265

7265.5

7266

7266.5

7267

7267.5

7268

7268.5

7269

ru
n

run:cyclenum {run == 7267}



8558 8558.5 8559 8559.5 8560
cyclenum

355−

354.5−

354−

353.5−

353−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

72.5−

72−

71.5−

71−

70.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

83

83.5

84

84.5

85

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

370.4−

370.2−

370−

369.8−

369.6−

369.4−

369.2−

369−

368.8−

368.6−

368.4−

368.2−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

90−

89.5−

89−

88.5−

88−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

90

90.5

91

91.5

92

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7267}



8558 8558.5 8559 8559.5 8560
cyclenum

174.5

175

175.5

176

176.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

63.2

63.4

63.6

63.8

64

64.2

64.4

64.6

64.8

65

65.2

65.4

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

14.5−

14−

13.5−

13−

12.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

187.5

188

188.5

189

189.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

1.5

2

2.5

3

3.5

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

14.5−

14−

13.5−

13−

12.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7267}



8558 8558.5 8559 8559.5 8560
cyclenum

175.5−

175−

174.5−

174−

173.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

87.4−

87.2−

87−

86.8−

86.6−

86.4−

86.2−

86−

85.8−

85.6−

85.4−

85.2−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

1−

0.5−

0

0.5

1

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

19.2

19.4

19.6

19.8

20

20.2

20.4

20.6

20.8

21

21.2

21.4

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

383−

382.5−

382−

381.5−

381−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7267}

8558 8558.5 8559 8559.5 8560
cyclenum

7265

7265.5

7266

7266.5

7267

7267.5

7268

7268.5

7269

ru
n

run:cyclenum {run == 7267}
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